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MC7805

MC7806

MC7808

MC7809

5.0 V

6.0 V

8.0 V

9.0 V

MC7812

MC7815

MC7818

MC7824

12 V

15 V

18 V

24 V
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MC78XXACT
2%

Insertion Mount

MC78XXACD2T
2%

TJ = 0°� +125°C
Surface Mount

MC78XXCT
TJ = 0° � +125°C

Insertion Mount

MC78XXCD2T
4%

Surface Mount

MC78XXBT
4%

TJ = – 40°� +125°C
Insertion Mount

MC78XXBD2T
TJ = – 40° � +125°C

Surface Mount

XX�PYgC'V����

MC7800���
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T/;)5,2
<>245,�85.�1

CASE 221A

Pin 1. Input
2. Ground
3. Output
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MC78XXInput

Cin*
0.33 µF CO**

Output
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*�E %�+ 9!8 7��

@G<� (5.0 – 18 V)
���� (24 V)

VI 35
40

Vdc

&F5/

Case 221A
TA = 25°C PD ?C;�2' W

3,C�6$"A:) RθJA 65 °C/W

3,C����"A:) RθJC 5.0 °C/W

Case 936 (D2PAK)
TA = 25°C PD ?C;�2' W

3,C�6$"A:) RθJA 113.0 °C/W

3,C����"A:) RθJA 5.0 °C/W

D43,C =B� Tstg –65�+150 °C

>-3,C =B� TJ +150 °C

R15
680R18

100 k

D1
Zener

R1
10.66 k

R2
1.56 k

R17
9.0 k

Q7
QNPN

LAT
Q17

Q9
QNPN 2

Q8
QNPN

Q14
QNPN

Q6
QNPN

Q5
QNPN 2

LAT 3A
Q18

R5
4.5 k

R6
1.0 k

Q13
QNPN Q2

QNPN 4

SUB
Q11 2

R11
15 k

QNPN 6

Q1

R7
14 k

R3
1.8 k

R8
5.0 k

Diode

Q16

Q4
QNPN

N+
C1
30PC2

3.0P

R9
3.0 k

R16
600

R20
17500

Q15
QNPN

Q10
QNPN

R22
100

Q12
QNPN

R24
50

1.0P

R21
600

R23
0.2

R19
27.5 k

D2
Zener

Q19
QNPN

R14
1.0 k

Q20
QNPN

R28
9.0 k

R27
9.0 k

R29
9.0 k

R25
6.0 k

R26
3.0 k

R12
3.0 k

R10
3340–

(3316ACT)

R30
18 k

Sense

Vout
5.01

Vin

R13
11660

Q3
QNPN
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D d ; E
MC7805B MC7805C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 4.8 5.0 5.2 4.8 5.0 5.2 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
7.0 Vdc ≤ Vin ≤ 20 Vdc
8.0 Vdc ≤ Vin ≤ 20 Vdc

VO

–
4.75

–
5.0

–
5.25

4.75
–

5.0
–

5.25
–

Vdc

Y@3WZ (TJ = +25°C) (U2)
7.0 Vdc ≤ Vin ≤ 25 Vdc
8.0 Vdc ≤ Vin ≤ 12 Vdc

Regline
–
–

5.0
1.3

100
50

–
–

5.0
1.3

100
50

mV

_93WZ (TJ = 25°C) (U2)
5.0 mA ≤ IO ≤ 1.5 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–

1.3
0.15

100
50

–
–

1.3
0.15

100
50

mV

OHYf (TJ = 25°C) IB – 3.2 8.0 – 3.2 8.0 mA

OHYfc8
7.0 Vdc ≤ Vin ≤ 25 Vdc
8.0 Vdc ≤ Vin ≤ 25 Vdc
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

–
1.3
0.5

–
–
–

–
–
–

1.3
–

0.5

mA

/%-0K<]

8.0 Vdc ≤ Vin ≤ 18 Vdc�f = 120 Hz
RR

– 68 – – 68 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 – – 10 –

µV/VO

IhXB f = 1.0 kHz rO – 0.9 – – 0.9 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 – – 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – – 2.2 – A

IhY2�a>7Z?M TCVO – –0.3 – – –0.3 – mV/°C

����	��
	���
�

����
���������	��	����	�
�������

D d ; E
MC7805AC

S 4D�d ;�E
G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 4.9 5.0 5.1 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
7.5 Vdc ≤ Vin ≤ 20 Vdc

VO
4.8 5.0 5.2

Vdc

Y@3WZ (U2)
7.5 Vdc ≤ Vin ≤ 25 Vdc�IO = 500 mA
8.0 Vdc ≤ Vin ≤ 12 Vdc
8.0 Vdc ≤ Vin ≤ 12 Vdc�TJ = 25°C
7.3 Vdc ≤ Vin ≤ 20 Vdc�TJ = 25°C

Regline
–
–
–
–

5.0
1.3
1.3
4.5

50
50
25
50

mV

_93WZ (U2)
5.0 mA ≤ IO ≤ 1.5 A�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–
–

1.3
0.8

0.15

100
100
50

mV

OHYf
(TJ = 25°C)

IB –
–

–
3.2

6.0
6.0

mA

OHYfc8

8.0 Vdc ≤ Vin ≤ 25 Vdc�IO = 500 mA
7.5 Vdc ≤ Vin ≤ 20 Vdc�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

0.8
0.8
0.5

mA

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����
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D d ; E
MC7805AC

S 4D�d ;�E
G�L ^�J G�R

S�4

/%-0K<]

8.0 Vdc ≤ Vin ≤ 18 Vdc�f = 120 Hz�IO = 500 mA
RR

– 68 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 –

µV/VO

IhXB (f = 1.0 kHz) rO – 0.9 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – A

IhY2�a>7Z?M TCVO – –0.3 – mV/°C

�
���
���
�
��	�����	��������������
������
������

D d ; E
MC7806B MC7806C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 5.75 6.0 6.25 5.75 6.0 6.25 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
8.0 Vdc ≤ Vin ≤ 21 Vdc
9.0 Vdc ≤ Vin ≤ 21 Vdc

VO

–
5.7

–
6.0

–
6.3

5.7
–

6.0
–

6.3
–

Vdc

Y@3WZ (TJ = 25°C) (U2)
8.0 Vdc ≤ Vin ≤ 25 Vdc
9.0 Vdc ≤ Vin ≤ 13 Vdc

Regline
–
–

5.5
1.4

120
60

–
–

5.5
1.4

120
60

mV

_93WZ (TJ = 25°C) (U2)
5.0 mA ≤ IO ≤ 1.5 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–

1.3
0.2

120
60

–
–

1.3
0.2

120
60

mV

OHYf (TJ = 25°C) IB – 3.3 8.0 – 3.3 8.0 mA

OHYfc8
8.0 Vdc ≤ Vin ≤ 25 Vdc
9.0 Vdc ≤ Vin ≤ 25 Vdc
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

–
1.3
0.5

–
–
–

–
–
–

1.3
–

0.5

mA

/%-0K<]

9.0 Vdc ≤ Vin ≤ 19 Vdc�f = 120 Hz
RR

– 65 – – 65 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 – – 10 –

µV/VO

IhXBf = 1.0 kHz rO – 0.9 – – 0.9 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 – – 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – – 2.2 – A

IhY2�a>7Z?M TCVO – –0.3 – – –0.3 – mV/°C

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����


��V'.�&��+0#�&#(���QW�����
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D d ; E
MC7806AC

S 4D�d ;�E
G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 5.88 6.0 6.12 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
8.6 Vdc ≤ Vin ≤ 21 Vdc

VO
5.76 6.0 6.24

Vdc

Y@3WZ (U2)
8.6 Vdc ≤ Vin ≤ 25 Vdc�IO = 500 mA
9.0 Vdc ≤ Vin ≤ 13 Vdc
9.0 Vdc ≤ Vin ≤ 13 Vdc�TJ = 25°C
8.3 Vdc ≤ Vin ≤ 21 Vdc�TJ = 25°C

Regline
–
–
–
–

5.0
1.4
1.4
4.5

60
60
30
60

mV

_93WZ (U2)
5.0 mA ≤ IO ≤ 1.5 A�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–
–

1.3
0.9
0.2

100
100
50

mV

OHYf
TJ = 25°C

IB –
–

–
3.3

6.0
6.0

mA

OHYfc8

9.0 Vdc ≤ Vin ≤ 25 Vdc�IO = 500 mA
8.6 Vdc ≤ Vin ≤ 21 Vdc�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

0.8
0.8
0.5

mA

/%-0K<]

9.0 Vdc ≤ Vin ≤ 19 Vdc�f = 120 Hz�IO = 500 mA
RR

– 65 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 –

µV/VO

IhXB (f = 1.0 kHz) rO – 0.9 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – A

IhY2�a>7Z?M TCVO – –0.3 – mV/°C

����	��
	���
����������	�������
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����

��
�����

D d ; E
MC7808B MC7808C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 7.7 8.0 8.3 7.7 8.0 8.3 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
10.5 Vdc ≤ Vin ≤ 23 Vdc
11.5 Vdc ≤ Vin ≤ 23 Vdc

VO

–
7.6

–
8.0

–
8.4

7.6
–

8.0
–

8.4
–

Vdc

Y@3WZ (TJ = 25°C) (U2)
10.5 Vdc ≤ Vin ≤ 25 Vdc
11 Vdc ≤ Vin ≤ 17 Vdc

Regline
–
–

6.0
1.7

160
80

–
–

6.0
1.7

160
80

mV

_93WZ (TJ = 25°C) (U2)
5.0 mA ≤ IO ≤ 1.5 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–

1.4
.22

160
80

–
–

1.4
.22

160
80

mV

OHYf (TJ = 25°C) IB – 3.3 8.0 – 3.3 8.0 mA

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����


��V'.�&��+0#�&#(���QW�����



�
1
	

�
�
�
�
�
�

MC7800����

MOTOROLA51

�
���
��	��

D d ; E
MC7808B MC7808C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

OHYfc8
10.5 Vdc ≤ Vin ≤ 25 Vdc
11.5 Vdc ≤ Vin ≤ 25 Vdc
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

–
1.0
0.5

–
–
–

–
–
–

1.0
–

0.5

mA

/%-0K<]

11.5 Vdc ≤ Vin ≤ 18 Vdc�f = 120 Hz
RR

– 62 – – 62 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 – – 10 –

µV/VO

IhXB f = 1.0 kHz rO – 0.9 – – 0.9 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 – – 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – – 2.2 – A

IhY2�a>7Z?M TCVO – –0.4 – – –0.4 – mV/°C

�
���
���
�
��

����
���������	��	����	�
�������

D d ; E
MC7808AC

S 4D�d ;�E
G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 7.84 8.0 8.16 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
10.6 Vdc ≤ Vin ≤ 23 Vdc

VO
7.7 8.0 8.3

Vdc

Y@3WZ (U2)
10.6 Vdc ≤ Vin ≤ 25 Vdc�IO = 500 mA
11 Vdc ≤ Vin ≤ 17 Vdc
11 Vdc ≤ Vin ≤ 17 Vdc�TJ = 25°C
10.4 Vdc ≤ Vin ≤ 23 Vdc�TJ = 25°C

Regline
–
–
–
–

6.0
1.7
1.7
5.0

80
80
40
80

mV

_93WZ (U2)
5.0 mA ≤ IO ≤ 1.5 A�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–
–

1.4
1.0
.22

100
100
50

mV

OHYf
TJ = 25°C

IB –
–

–
3.3

6.0
6.0

mA

OHYfc8

11 Vdc ≤ Vin ≤ 25 Vdc�IO = 500 mA
10.6 Vdc ≤ Vin ≤ 20 Vdc�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

0.8
0.8
0.5

mA

/%-0K<]

11.5 Vdc ≤ Vin ≤ 21.5 Vdc�f = 120 Hz�IO = 500 mA
RR

– 62 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 –

µV/VO

IhXB f = 1.0 kHz rO – 0.9 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – A

IhY2�a>7Z?M TCVO – –0.4 – mV/°C

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����


��V'.�&��+0#�&#(���QW�����
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B c 9 C
MC7809CT

R 1B�c 9�C
E�K ]�I E�Q

R�1

HgX/ (TJ = 25°C) VO 8.65 9.0 9.35 Vdc

HgX/

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
11.5 Vdc ≤ Vin ≤ 24 Vdc

VO
8.55 9.0 9.45

Vdc

X>0VY (TJ = 25°C) (T2)
11.5 Vdc ≤ Vin ≤ 26 Vdc
11.5 Vdc ≤ Vin ≤ 17 Vdc

Regline
–
–

6.2
1.8

50
25

mV

^70VY (TJ = 25°C) (T2)
5.0 mA ≤ IO ≤ 1.5 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–

1.5
0.3

50
25

mV

NGXe (TJ = 25°C) IB – 3.4 8.0 mA

NGXeb6
11.5 Vdc ≤ Vin ≤ 26 Vdc
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–

–
–

1.0
0.5

mA

,#*-J:\

11.5 Vdc ≤ Vin ≤ 21.5 Vdc�f = 120 Hz
RR

– 61 –
dB

'.#*� &X/ (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – Vdc

HgF5X/ (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 –

µV/VO

HgW@ f = 1.0 kHz rO – 1.0 – mΩ

SdXeM? (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 –

A

)�!HgXe (TJ = 25°C) Imax – 2.2 – A

HgX/�`<4Y=L TCVO – –0.5 – mV/°C

����	���
	����

����
����������	��	����	�
���
���

B c 9 C
MC7812B MC7812C

R 1B�c 9�C
E�K ]�I E�Q E�K ]�I E�Q

R�1

HgX/ (TJ = 25°C) VO 11.5 12 12.5 11.5 12 12.5 Vdc

HgX/

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
14.5 Vdc ≤ Vin ≤ 27 Vdc
15.5 Vdc ≤ Vin ≤ 27 Vdc

VO

–
11.4

–
12

–
12.6

11.4
–

12
–

12.6
–

Vdc

X>0VY (TJ = 25°C) (T2)
14.5 Vdc ≤ Vin ≤ 30 Vdc
16 Vdc ≤ Vin ≤ 22 Vdc

Regline
–
–

7.5
2.2

240
120

–
–

7.5
2.2

240
120

mV

^70VY (TJ = 25°C) (T2)
5.0 mA ≤ IO ≤ 1.5 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–

1.6
1.0

240
120

–
–

1.6
1.0

240
120

mV

NGXe (TJ = 25°C) IB – 3.4 8.0 – 3.4 8.0 mA

NGXeb6
14.5 Vdc ≤ Vin ≤ 30 Vdc
15 Vdc ≤ Vin ≤ 30 Vdc
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

–
1.0
0.5

–
–
–

–
–
–

1.0
–

0.5

mA

,#*-J:\

15 Vdc ≤ Vin ≤ 25 Vdc�f = 120 Hz
RR

– 60 – – 60 –
dB

'.#*� &X/ (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – – 2.0 – Vdc

T �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� ^70VY���X>0VY��2VOD_4Y�8V�����
���a��[�3;���VO�b6�Af�Z�����	�����


��U%+�$��(-"�$"&���PV�����
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D d ; E
MC7812B MC7812C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 – – 10 –

µV/VO

IhXB f = 1.0 kHz rO – 1.1 – – 1.1 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 – – 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – – 2.2 – A

IhY2�a>7Z?M TCVO – –0.8 – – –0.8 – mV/°C

�
���
���
�
��

����
���������	��	����	�
�������

D d ; E
MC7812AC

S 4D�d ;�E
G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 11.75 12 12.25 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
14.8 Vdc ≤ Vin ≤ 27 Vdc

VO
11.5 12 12.5

Vdc

Y@3WZ (U2)
14.8 Vdc ≤ Vin ≤ 30 Vdc�IO = 500 mA
16 Vdc ≤ Vin ≤ 22 Vdc
16 Vdc ≤ Vin ≤ 22 Vdc�TJ = 25°C
14.5 Vdc ≤ Vin ≤ 27 Vdc�TJ = 25°C

Regline
–
–
–
–

7.5
2.2
2.2
6.0

120
120
60
120

mV

_93WZ (U2)
5.0 mA ≤ IO ≤ 1.5 A�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–
–

1.6
1.2
1.0

100
100
50

mV

OHYf
TJ = 25°C

IB –
–

–
3.4

6.0
6.0

mA

OHYfc8

15 Vdc ≤ Vin ≤ 30 Vdc�IO = 500 mA
14.8 Vdc ≤ Vin ≤ 27 Vdc�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

0.8
0.8
0.5

mA

/%-0K<]

15 Vdc ≤ Vin ≤ 25 Vdc�f = 120 Hz�IO = 500 mA
RR

– 60 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 –

µV/VO

IhXB (f = 1.0 kHz) rO – 1.1 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – A

IhY2�a>7Z?M TCVO – –0.8 – mV/°C

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����


��V'.�&��+0#�&#(���QW�����
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����	��
	���
����������
��������	���������
������

D d ; E
MC7815B MC7815C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 14.4 15 15.6 14.4 15 15.6 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
17.5 Vdc ≤ Vin ≤ 30 Vdc
18.5 Vdc ≤ Vin ≤ 30 Vdc

VO

–
14.25

–
15

–
15.75

14.25
–

15
–

15.75
–

Vdc

Y@3WZ (TJ = 25°C (U2)
17.5 Vdc ≤ Vin ≤ 30 Vdc
20 Vdc ≤ Vin ≤ 26 Vdc

Regline
–
–

8.5
3.0

300
150

–
–

8.5
3.0

300
150

mV

_93WZ (TJ = 25°C) (U2)
5.0 mA ≤ IO ≤ 1.5 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–

1.8
1.2

300
150

–
–

1.8
1.2

300
150

mV

OHYf (TJ = 25°C) IB – 3.5 8.0 – 3.5 8.0 mA

OHYfc8
17.5 Vdc ≤ Vin ≤ 30 Vdc
18.5 Vdc ≤ Vin ≤ 30 Vdc
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

–
1.0
0.5

–
–
–

–
–
–

1.0
–

0.5

mA

/%-0K<]

18.5 Vdc ≤ Vin ≤ 28.5 Vdc�f = 120 Hz
RR

– 58 – – 58 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 – – 10 –

µV/VO

IhXBf = 1.0 kHz rO – 1.2 – – 1.2 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 – – 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – – 2.2 – A

IhY2�a>7Z?M TCVO – –1.0 – – –1.0 – mV/°C

����	��
	���
����������
�������	���������
������

D d ; E
MC7815AC

S 4D�d ;�E
G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 14.7 15 15.3 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
17.9 Vdc ≤ Vin ≤ 30 Vdc

VO
14.4 15 15.6

Vdc

Y@3WZ (U2)
17.9 Vdc ≤ Vin ≤ 30 Vdc�IO = 500 mA
20 Vdc ≤ Vin ≤ 26 Vdc
20 Vdc ≤ Vin ≤ 26 Vdc�TJ = 25°C
17.5 Vdc ≤ Vin ≤ 30 Vdc�TJ = 25°C

Regline
–
–
–
–

8.5
3.0
3.0
7.0

150
150
75
150

mV

_93WZ (U2)
5.0 mA ≤ IO ≤ 1.5 A�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–
–

1.8
1.5
1.2

100
100
50

mV

OHYf
TJ = 25°C

IB –
–

–
3.5

6.0
6.0

mA

OHYfc8

17.5 Vdc ≤ Vin ≤ 30 Vdc�IO = 500 mA
17.5 Vdc ≤ Vin ≤ 30 Vdc�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

0.8
0.8
0.5

mA

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����


��V'.�&��+0#�&#(���QW�����
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���
��	��

D d ; E
MC7815AC

S 4D�d ;�E
G�L ^�J G�R

S�4

/%-0K<]

18.5 Vdc ≤ Vin ≤ 28.5 Vdc�f = 120 Hz�IO = 500 mA
RR

– 58 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 –

µV/VO

IhXB f = 1.0 kHz rO – 1.2 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – A

IhY2�a>7Z?M TCVO – –1.0 – mV/°C

�
���
���
�
�����������	�������
��
����

��
�����

D d ; E
MC7818B MC7818C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 17.3 18 18.7 17.3 18 18.7 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
21 Vdc ≤ Vin ≤ 33 Vdc
22 Vdc ≤ Vin ≤ 33 Vdc

VO

–
17.1

–
18

–
18.9

17.1
–

18
–

18.9
–

Vdc

Y@3WZ (TJ = 25°C) (U2)
21 Vdc ≤ Vin ≤ 33 Vdc
24 Vdc ≤ Vin ≤ 30 Vdc

Regline
–
–

9.5
3.2

360
180

–
–

9.5
3.2

360
180

mV

_93WZ (TJ = 25°C) (U2)
5.0 mA ≤ IO ≤ 1.5 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–

2.0
1.5

360
180

–
–

2.0
1.5

360
180

mV

OHYf (TJ = 25°C) IB – 3.5 8.0 – 3.5 8.0 mA

OHYfc8
21 Vdc ≤ Vin ≤ 33 Vdc
22 Vdc ≤ Vin ≤ 33 Vdc
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

–
1.0
0.5

–
–
–

–
–
–

1.0
–

0.5

mA

/%-0K<]

22 Vdc ≤ Vin ≤ 33 Vdc�f = 120 Hz
RR

– 57 – – 57 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) ViI – VO – 2.0 – – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 – – 10 –

µV/VO

IhXB f = 1.0 kHz rO – 1.3 – – 1.3 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 – – 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – – 2.2 – A

IhY2�a>7Z?M TCVO – –1.5 – – –1.5 – mV/°C

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����


��V'.�&��+0#�&#(���QW�����
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	���
�
�����
�	��������
����������������

D d ; E
MC7818AC

S 4D�d ;�E
G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 17.64 18 18.36 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
21 Vdc ≤ Vin ≤ 33 Vdc

VO
17.3 18 18.7

Vdc

Y@3WZ (U2)
21 Vdc ≤ Vin ≤ 33 Vdc�IO = 500 mA
24 Vdc ≤ Vin ≤ 30 Vdc
24 Vdc ≤ Vin ≤ 30 Vdc�TJ = 25°C
20.6 Vdc ≤ Vin ≤ 33 Vdc�TJ = 25°C

Regline
–
–
–
–

9.5
3.2
3.2
8.0

180
180
90
180

mV

_93WZ (U2)
5.0 mA ≤ IO ≤ 1.5 A�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–
–

2.0
1.8
1.5

100
100
50

mV

OHYf
TJ = 25°C

IB –
–

–
3.5

6.0
6.0

mA

OHYfc8

21 Vdc ≤ Vin ≤ 33 Vdc�IO = 500 mA
21 Vdc ≤ Vin ≤ 33 Vdc�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

0.8
0.8
0.5

mA

/%-0K<]

22 Vdc ≤ Vin ≤ 32 Vdc�f = 120 Hz�IO = 500 mA
RR

– 57 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 –

µV/VO

IhXB f = 1.0 kHz rO – 1.3 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – A

IhY2�a>7Z?M TCVO – –1.5 – mV/°C

����	��
	���
�
�����
�	���������
����������������

D d ; E
MC7824B MC7824C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 23 24 25 23 24 25 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
27 Vdc ≤ Vin ≤ 38 Vdc
28 Vdc ≤ Vin ≤ 38 Vdc

VO

–
22.8

–
24

–
25.2

22.8
–

24
–

25.2
–

Vdc

Y@3WZ (TJ = 25°C) (U2)
27 Vdc ≤ Vin ≤ 38 Vdc
30 Vdc ≤ Vin ≤ 36 Vdc

Regline
–
–

11.5
3.8

480
240

–
–

11.5
3.8

480
240

mV

_93WZ (TJ = 25°C) (U2)
5.0 mA ≤ IO ≤ 1.5 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–

2.1
1.8

480
240

–
–

2.1
1.8

480
240

mV

OHYf (TJ = 25°C) IB – 3.6 8.0 – 3.6 8.0 mA

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����


��V'.�&��+0#�&#(���QW�����
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D d ; E
MC7824B MC7824C

S 4D�d ;�E
G�L ^�J G�R G�L ^�J G�R

S�4

OHYfc8
27 Vdc ≤ Vin ≤ 38 Vdc
28 Vdc ≤ Vin ≤ 38 Vdc
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

–
1.0
0.5

–
–
–

–
–
–

1.0
–

0.5

mA

/%-0K<]

28 Vdc ≤ Vin ≤ 38 Vdc�f = 120 Hz
RR

– 54 – – 54 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 – – 10 –

µV/VO

IhXB f = 1.0 kHz rO – 1.4 – – 1.4 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 – – 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – – 2.2 – A

IhY2�a>7Z?M TCVO – –2.0 – – –2.0 – mV/°C

�
���
���
�
��

����
���������	��	����	�
�������

D d ; E
MC7824AC

S 4D�d ;�E
G�L ^�J G�R

S�4

IhY2 (TJ = 25°C) VO 23.5 24 24.5 Vdc

IhY2

(5.0 mA ≤ IO ≤ 1.0 A�PD ≤15 W)
27.3 Vdc ≤ Vin ≤ 38 Vdc

VO
23 24 25

Vdc

Y@3WZ (U2)
27 Vdc ≤ Vin ≤ 38 Vdc�IO = 500 mA
30 Vdc ≤ Vin ≤ 36 Vdc
30 Vdc ≤ Vin ≤ 36 Vdc�TJ = 25°C
26.7 Vdc ≤ Vin ≤ 38 Vdc�TJ = 25°C

Regline
–
–
–
–

11.5
3.8
3.8
10

240
240
120
240

mV

_93WZ (U2)
5.0 mA ≤ IO ≤ 1.5 A�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A
250 mA ≤ IO ≤ 750 mA

Regload
–
–
–

2.1
2.0
1.8

100
100
50

mV

OHYf
TJ = 25°C

IB –
–

–
3.6

6.0
6.0

mA

OHYfc8

27.3 Vdc ≤ Vin ≤ 38 Vdc�IO = 500 mA
27.3 Vdc ≤ Vin ≤ 38 Vdc�TJ = 25°C
5.0 mA ≤ IO ≤ 1.0 A

∆IB
–
–
–

–
–
–

0.8
0.8
0.5

mA

/%-0K<]

28 Vdc ≤ Vin ≤ 38 Vdc�f = 120 Hz�IO = 500 mA
RR

– 54 –
dB

)1%-�!(Y2 (IO = 1.0 A�TJ = 25°C) VI – VO – 2.0 – Vdc

Ih* $Y2 (TA = 25°C)
10 Hz ≤ f ≤ 100 kHz

Vn
– 10 –

µV/VO

IhXB (f = 1.0 kHz) rO – 1.4 – mΩ

TeYfNA (TA = 25°C)
Vin = 35 Vdc

ISC
– 0.2 –

A

,�"IhYf (TJ = 25°C) Imax – 2.2 – A

IhY2�a>7Z?M TCVO – –2.0 – mV/°C

U �� ����� �°� ��� ��
���
���� ����°� ��� ��
������������ � ���	°� ��� ��
���
�����

�� _93WZ���Y@3WZ��5WPF`7Z�:W�����
���b��\�6=���VO�c8�Cg�[�����	�����


��V'.�&��+0#�&#(���QW�����
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�
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�	����$��� ���
��������
�

Vin–Vout� �%�� (V)

3.0

2.0

1.5

1.0

0
4.0 8.0 12 20 30 40

80

70

60

50

40
4.0 6.0 8.0 10 12 14 16 18 20 22 24

VO��%�� (V)

PART #  Vin
MC7805C = 10 V
MC7806C = 11 V
MC7808C = 14 V
MC7812C = 19 V
MC7815C = 23 V
MC7818C = 27 V
MC7824C = 33 V

80

50

0.1 10

f��!� (kHz)
0.01

5.0

4.9

– 60 – 20 20 60 100 140 180

TJ���#�� (�)

10

5.0

3.0

2.0

1.0

0.5

0.3

0.2

0.1
4.0 8.0 12 16 20 24

VO��%�� (V)

6.0

4.0

3.0

2.0

1.0

0
–75 –50

TJ���#�� (�)

–25 0 25 50 75 100 125

2.5

0.5

70

40

30

60

4.8

6.0 10 15 25 35

TJ = 85°C

TJ = 25°C

1.0

f = 120 Hz
IO = 20 mA
∆Vin = 1.0 V(RMS)

TJ = – 40°C

TJ = 125°C

TJ = 0°C

f = 120 Hz
IO = 500 mA
CL = 0 µF

Vin = 10 V
VO = 5.0 V
IL = 20 mA

Vin = 20 V
IO = 5.0 mA

MC78XXB�C�AC

Vin = 8.0 V�18 V 
IO = 500 mA
f = 120 Hz
TA = 25°C
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�J�n�

• tSm ~He]
������2F�5�X��JH.DH�7��Pk���P�Omz

��p������Q�)2C9;�8-I�'�P�O�Y)���

rT�����"��"��Q����'^{��)nW�'}��Y

Q��	% >4�;EI347�

'�J�jh�����d�}

���)Ug��'�d�;EI347Ku�_�M�eQ�)�w�

��"��

��������!�*��l]�e��0I:I1����&"�

*�����H.DH�7��V�@+G7���s)���qx�(

���&�d���O���{��l]��H.DH�7���)0I

:I1�=,>4�'��)	S#�"����=,>4�0I:I1

��u�Omz�K����_)�i�'�#�\c��o�%�$�

)t|��
�����(�������µ�Lj�7I7G�B,E�"�
���y\c�����,I?�8I4���0I:I1�����"

��

=,>4�0I:I1����'��F�<s)}
���H.D

H�7���~`��qb&���
����H.DH�7��R�6

I4�F�<��&"�*���/EI<�G�A�F�<�Z�%'

�J[N�^f��'%�����'����
&��av��)��

'����&"��

o����C1@C�8 o��L�k�C1@C�8

o����=�6;�C1@C�8 o���y��YN ����=�6;

mP &
�sv,�	*"�MC7800C1@C�8,��W
���b��)��%��#��� J�N ��!���w
i,al��)�$�MC7805C,b���	#��gh �
�(��ZR����U#(#��

���"�1A ��W��*"�R�!5Ω�10W �Z���
��(�k��F!���F&(7V�	�F��j�#��

IO = 5.0 V
R

+  IB

IB � 3.2 mA over line and load changes.

Input

0.33 µF
R

IO

MC7805

s|�*�	)�
M����,RQ

0?.E>,�K�)���&(�G���p,If���
'�^�F#�!}�Fk� �r�L����� N \q
��'*)a��F!�C1@C�8�F&(2.0V^��(#
��

Input
MC7805

Output

0.33 µF

10 k

MC1741G

7

6

41.0 k

VO = 7.0 V�20 V
VIN = VO ≥ 2.0 V

0.1 µF

3

2
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